2 AT A A : (610) Y= Hg @ (611) 2242 2 : (03) =g (cre) : M)
= =2 = = =
= o & | A |y & z ] S
28,380,000 | 29,200,000 |  A820,000
AT AFY A 19,804,033 | 20,202,845 | ~398,812
18,714,762 | 19,105,231 |  A390,469
17,787,329 | 17,896,758 | ~A109,429
1,082,220 1,191,649 | ~109,429 |O &=EZAE=E
CAE>1,1479 x 528 x 1,500 x 128 -< I & > 1,166% x
53& x 1,595 x 122 = A 109,221
O RPEQ=
<AA>13,8272 x 528 x 128-< J| & > 13,8942 x 53A x 12
2 = A208
612
ST SA= 320,500 547,500 |  A227,000
01
Al Z AL Q 243,000 402,500 A159,500 AMESEN ZALU(SHMAAIY) A 104,250
— 32mm
<A >600,0008 x 108-< I A >600,0008 x 208 = A6,000
— 40mn
<AE>1,000,0008 x58-< J| & >1,000,0008 x 108 = A5,000

- 50mm

<& & >1,050,000& x58-<J1& >1,050,000& x 10&

A5,250




]

Mg (612) ST A+o S (01) MNEBASY (G9l @)

1]

o)
= =2 5 = =
ooed |2z e = 2L =
- 80mm
<H3A >3,000,000& x58-<J|& >3,000,000& x10& = A 15,000
- 100mm
<HAE>4,000,0003 x38-<J|A>4,000,000& x5& = A 8,000
- 150mm
<Z A >5,000,000& x38-<J|&E >5,000,000& x 108 = A 35,000
= 200mm <HAAE>0-<J|A >6,000,000% x58 = A 30,000
O MEXETE ZA IFMFY +2A(2FMUAA) AB5,250
- 32m/m
<ZE A >300,0008 x 10&8-< J]& >300,000& x20& = A 3,000
- 40m/m
<H3AE>600,000) x5&8-<J|A >600,000& x10& = A 3,000
- 50m/m
<H3AE >650,000) x58-< I A >650,000& x 10& = AN3,250
- 80m/m
<HA >1,000,000& x58-<J1& >1,000,000& x10& = A5,000
- 150m/m
<HA >3,000,000& x3&8-<J|H >3,000,000& x10& = A 21,000
- 200m/m <HAAE>0-<IJI&E>4,000,000& x5& = A 20,000




21 (B00) APAT AR & @ (610) WA Hig @ (612) 2aZ A2 2 @ (02) WE2ALY oo )
i, = J| X = 3 - _
o | N = O AF oM 01|,|g_|.o_||.| _;::_go_'H A = | =
02 _
HEZALLQ 77.500 145 .000 A67.500 | © TZEU & A 0l&SAtHl =& A 45,000
— 13~ 200mn
<A >3,000,0002 x 158 -< J| & >3,000,0002 x 30& A45,000
O HEASTH ZA IHRY 22 A 22,500
- 13~200m/m
<BE>1,500,0008 x 158-< J| & >1,500,0002 x 30& A22.500
613
JIErE == 606,933 660,973 AB54,040
01
rrELY 549,840 603,880 | 454,040 O EHRFEESLH 282 S8
<AA>70,0008 x7,800H-< J| A >70,0002 x8,572A A54,040
620
2= 223,220 231,563 8,343
621
=& 0l A 103,373 105,816 A2.443
01
QI B0l X} 2 2 103,373 105,816 A2.443 EEP S
<ZAA>103,373,00082-< J| = > 105,816,000 A2, 443
625
JIErE S 2l 23,999 29,899 5,900
02 L
EREALQ 0 6,000 26,000 SSHAM 0§22
<BE>0-< I E > 1502 x 40,000ke A6,000
05
Eb 0l 100 0 100 22X S 2,000 x50 100




D (320) H=Ado=+E Mg (321) ANEZ2E3 2 (01) NEE2E2 (cte] : A
= =2 3 - =
g | ded | By & = ] =
779,538 1,200,726 A421,188
622,453 1,043,641 A421,188
622,453 1,013,641 A391,188
622 453 1.013.641 £391.188 |O E+SA Ad2ES(ME3+H) AT71,188
— 20mm <A A>529,000& x 508 -<J| H>529,000& x 100& = A 26,450
— 25mm <& &>940,000& x 208 -<J| &>940,000& x 30& = A 9,400
— 150mm
<Z &>35,338,000& x 18-<J| &>35,338,000& x2& = A 35,338
O &R Egs =¥
<& &>40,000,000& x 78 -<J| &>40,000,000& x 1568 = A 320,000
0 30,000 230,000
0 30,000 A30,000 | O &= HANFES SAtHl =8
<EE>0-<JIE>10,000,000& x3& = 230,000




